NSN 5340-01-612-1770 AeroBase

Mechanic Equipment Hardware Kit - Page 1 of 1 J— Group
View Online at https://aerobasegroup.com/nsn/5340-01-612-1770

End Application:

5430-01-487-7760

Product Name:

Muffler and pre silencer kit

Special Features:

Kit includes 4 - spring washer m6é, 4 - hex screws m6 x 16, 1 exhaust capinside, 4 - hex screws m6 x 12, 1 - exhaust cap, outside, 1 o-ring
100 x 2.5, 1 - sealing ring, 2 all.Screw m8x25, 2 all.Screw m8x60, 1 exhaust silencer, 1 exhaust silencer gasket, 7-spring washers m8,
7-disc 8.4, 3 all.Screw m8x30, 1 pre silencer, 1 muffler gasket and 1 support

Shelf Life:

N/a

Unit Of Measure:

Demilitarization:

No

Fiig:

A23800


https://aerobasegroup.com

